Fill in the Missing Numbers

Name: Score:

Calculate and fill in the boxes

2115 315 37

+ 3 + 0 + 7

718 715 71 4

12 512 18 614
+ 8 + 6 + 3 + |1
410 81| 8 511 ?1l
714 216 1[5 2
+ + + + 7
912 5111 69 52
1 16 5 414
+ 3 - + 2 n
62 3115 9110 ?1M
3]12 1 1|7
711 910 4116 41 4

copyright:  www.mathinenglish.com



Answers

Calculate and fill in the boxes

35 3|7

410 + |37

7115 7] 4

5112 18 61 4
3]16 + 133 + [1][7
8 8 S g1
2116 1|5 21’5
2|15 + 15]4 + 217
5011 6] 9 512
1||6 518 41 4
19 + 1312 + 1317
3115 9110 gl
2|15 1]/ 8 117
65 + 128 + [21[7
9110 416 414
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